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Read the following instructions carefully before you begin to answer the questions.

INSTRUCTIONS TO CANDIDATES

1. This Booklet contains 175 questions to be answered in a separate OMR Answer Sheet using
Black Ballpoint Pen in the following three Parts :

Part—A : General English 2 50 questions
Part—B : General Knowledge & Aptitude 3 25 questions
Part—C : Social Works : 100 questions

2. All questions are compulsory.

3. You will be supplied the Answer Sheet separately by the Invigilator. You must complete the
details of particulars asked for.

4. Answer must be shown by completely blackening the corresponding circle in the Answer Sheet
against the relevant question number by Black Ballpoint Pen. OMR Answer Sheet without
marking Series shall not be evaluated.

Example :

Suppose the following question is asked :
The Capital of Meghalaya is

(A) Guwahati

(B) Kohima

(C) Shillong

(D) Delhi

You will have four alternatives in the Answer Sheet for your response corresponding to each
question of the Question Booklet as below :

®® 00 O

In the above illustration, if your chosen response is alternative (C), i.e., Shillong, then the same
should be marked on the Answer Sheet by blackening the relevant circle with a Black Ballpoint

Pen only as below :
® 60 0

The example shown above is the only correct method of answering.

5. Answer the questions as quickly and as carefully as you can. Some questions may be difficult and
others easy. Do not spend tooc much time on any one question.

o))

- There will NOT be any negative marking for wrong answers.
- The Answer Sheet must be handed over to the Invigilator before you leave the Examination Hall.

8. No Rough Work is to be done on the Answer Sheet. Space for Rough Work has been provided in
the Question Booklet.
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SUPERINTENDENT TRAINING FOR SELF EMPLOYMENT OF WOMEN IN NEED OF CARE AND PROTECTION IN THE 
SOCIAL WELFARE DEPARTMENT

YEAR OF ADVT:2020     DATE OF EXAM: 29-MAY-2024


PART—A : GENERAL ENGLISH

( Marks : 100 )

Each question carries 2 marks

Directions (Q. Nos. 1-5) In these
questions, four alternatives are given for
the given idiom/phrase. Choose the
alternative which best expresses the
meaning of the given idiom/phrase.
1. A snake in the grass

(A) a reliable person

(B) a hidden enemy

(C) unrecognizable danger

(D) fierce enemy

2. From hand to mouth
(A) to survive without saving
(B) consuming food
(C) something repeated often

(D) hitting someone

3. Sitting on the fence
(A) unbalanced
(B) uncomfortable
(C) between two opinions

(D) coward

4. To throw cold water
(A) reject
(B) encourage
(C) discourage

(D) revive

5. To leave no stone unturned
(A) to try one’s best
(B) to change things
(C) to work enthusiastically

(D) to please others
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Directions (Q. Nos. 6-15) : In the following
questions, sentences are given with blanks
to be filled with appropriate and suitable
word(s). Four alternatives are suggested for

each question. Choose the correct
alternative out of the four.
6. You are to go out alone.
(A) too big
(B) big enough
(C) very big
(D) so big
7. Epidemics are likely to in areas

where flood water has receded.

(A) break up
(B) break out
(C) break in

(D) break off

8. This pen five rupees.
(A) is costing
(B) cost
(C) costs
(D) will costs
9. Each of the participants _____ given a
certificate.
(A) was
(B) were
(C) has
(D) have
10. I _____ ill for four days.
(A) am
(B) were

(C) has been
(D) have been
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11. 1 wish 1 young again.

(A) was
(B) am
(C) were

(D) have been

12. I ___ my coat on the peg.
(A) hanged
(B) am hanging
(C) hung

(D) were hanging

13. Two and two four.

{A) makes
(B) made
(C) making
(D) make

14. The passenger train stop at every .

railway station.
(A) has to
(B) have to
(C) had to

(D) will has to

15. 1 like to tell you that John is a
famous surgeon.

(A) should
(B) could
(C) would

(D) may
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Directions (Q. Nos. 16-20) In these
questions, some of the sentences have
errors and some have none. Find out which
part of a sentence A, B or C has an error
and select that part as an answer. If there
is no error, then D is the answer.

16. Rome / was not / built in a day /
A B C

No error
D

17. He / always / speaks truth / No error
A B C D

18. Goldis / an useful / metal / No error
A B C D

19. Taj Mahal / is a /
A B

beautiful monument / No error
C D

20. The winters / are generally /
A B

very cold here / No error
C D




Directions (Q. Nos.

21-30) In these

questions, out of four alternatives given,
choose the one which best expresses the
meaning of the underlined word.

21.

. 22,

23.

24.

25.

Child marriages are rampant in North
India.

(A) common (B) allowed

(C) languishing (D) inert

John is gregarious by nature.
(A) quiet (B) friendly

(C) rude (D) simple

We must never allow our talents to lie
dormant.
(A) inactive (B) expire

(C) flounder (D) insensible

The new leader is
philistine by many.

regarded as a

(A) clever (B) haughty

(C) uncultured (D) lethargic

Her father is a very austere man.
(A) indolent (B) intelligent

(C) strict (D) slack
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26. Uncouth behaviour on the part of

27.

28.

29.

students is unacceptable.
(A) ungraceful (B) dirty

(C) slovenly (D) rough

The mob attempted to lynch the
kidnapper.
(A) hang (B) kill

(C) shoot (D) whip

He gave an impromptu speech on the
occasion.

(A) eloquent

(B) enthusiastic

(C) unrehearsed

(D) prepared

The workers tried their best to thwart

the plans of the management.
(A) embarrass (B) embitter

(C) frustrate (D) hasten

30. The prisoners of war signed the

document under coercion.
(A) compulsion

(B) supervision

(C) confusion

(D) security
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-Directions (Q. Nos. 31-40) : In these 36. He walked in ungainly strides.
questions, out of four alternatives given,

choose the omne which is opposite in [ ik
meaning of the underlined word. (B) awkward
; (C) short
31. He is an amateur photographer.
(A) average (D) graceful

(B) professional
37. Dwindling of resources was noticed at a

(C) experienced later stage.

(D) skilled
(A) Increase

32. The coach was too lax about the (B) Paucity

fraining of the team. (C) Availability

(A) stern (D) Lack
(B) strict
&) Steagiast 38. We approached the stranger warily.
(D) firm
(A) carefully
33. The office clerk looked very grumpy. (B) - cautiously
(A) surly

(C) carelessly

EIZ; eiﬁclent (D) suspiciously
pleasant

(D) honest 39. My transfer order was revoked

yesterday.
34. The speaker had a superficial

knowledge of the subject. (A) issued

(A) deep (B) approved
(B) overt (C) proposed
(C) artificial Ao A

(D) fictitious

40. The Principal reprimanded the students
35. The gentleman did not divulge the for their behaviour.

secret.

(A) disgui {A) encouraged
isguise

(B) suppress (B) rewarded

(C) conceal (C) appreciated

(D) wveil (D) praised
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Directions (Q. Nos. 41-50) : Fill in the 46. We saw a wounded tiger while passing
blanks with the appropriate preposition the forest.
from the options given.

(A) from
41. They will leave the place 10 p.m. (B) along
(A) on (C) through
(B) since (D) among
(C) for
D) & 47. Try to reach the village sunset.
(A) before
42. He is not popular the students. (B) by
(A) by (C) from
B ith
(B) wi (D) of
(C) among
(D) at 48. The bridge this river was built in
the year 2021.
43. In the month of December, the (A) at
temperature falls 4 degrees.
(B) over
(A) from
(C) above
(B) below
©) at (D) on
(D) into 49. It is risky to enter a business
partnership with an unknown person.
44, She is suffering fever.
(A) with
(A) below
i (B) into
(B) with
(C) from & m
(D) through R
48. He was Bned driving carelessly. 50. I am hopeful achieving success.
(A) to (A) of
(B) of (B) with
(C) by (C) to
(D) for (D) by
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51.

52.

. 83.

PART—B : GENERAL KNOWLEDGE & APTITUDE

( Marks :

50 )

Each question carries 2 marks

Which of the following phenomena is
supposedly associated with global
warming?

(A) Southern Oscillation

(B) La Nina
(C) Modoki
(D) El Nifio

Dumping of solid waste in low lying
areas earth cover is called as

(A) sanitary land-filling
(B) incineration
(C) open dumping

(D) composting

What is a URL?
(A) A computer software program
(B) A type of programming object

(C) The address of a document or
‘page’ on the World Wide Web

(D) An  acronym for Unlimited

Resources for Learning
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54.

55.

56.

The unemployment caused due to the
workers lacking the requisite job skills
is an example of

(A) disguised unemployment

(B) frictional unemployment

(C) cyclical unemployment

(D) structural unemployment

Provisions of the Consumer Protection
Act, 2019 came into force on

(A) 12th March, 2020
(B) 23rd June, 2020
(C) 30th April, 2020

(D) 20th July, 2020

Which of the following is used as a logo
of the World Wide Fund (WWF) for
nature? :

(A) Deer

(B) Lion

(C) Panda

(D) Camel



57.

58.

59.

Which of the following two nations
hosted the FIFA Women’s World Cup in
20237

(A) Norway and Sweden

(B) Australia and New Zealand

(C) The United States of America and
Canada

(D) Japan and South Korea

Who among the following is the first

Indian to get an Oscar Award?

(A) Satyajit Ray

(B) Bhanu Athaiya

(C) A. R. Rahman

(D) Resul Pookutty

Which of the following planets does not

have any moon?

(A) Venus

(B) Saturn

(C) Uranus

(D) Jupiter
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60. The Supreme Court of India enjoys

61.

62.

(A) appellate and advisory jurisdiction

(B) advisory and original jurisdiction

(C) original jurisdiction

(D) original appellate and advisory
jurisdiction

Who is known as ‘the Father of

Geometry™?

(A) Kepler

(B) Pythagoras

(C) Euclid

(D) Aristotle

The ‘National Science Day’ is observed
on

(A) 28th of March
(B) 28th of April
(C) 28th of January

(D) 28th of February

63. The mascot of the FIFA World Cup

Qatar 2022 was
(A) Fuleco

(B) Zabivaka
(C) La’eeb

(D) Footix
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64. Complete the series 2, 5, 9, 19, 37, ---

65.

66.

A) 75
(B) 74
(C) 76

(D) 73

Three Dbells
36 seconds,

toll at intervals of
40 seconds, and
48 seconds respectively. They start
ringing together at a particular time.
When will they toll next together?

(A) 6 minutes

(B) 12 minutes
(C) 18 minutes
(D) 24 minutes

If 15 men can reap the crops of a field in
28 days, in how many days will 5 men
reap it?

(A) 50 days
(B) 60 days
(C) 84 days
(D) 9-:333 days
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67. A pipe can fill a tank in 6 hours and

68.

69.

another pipe can empty the tank in
12 hours. If both the pipes are opened
at the same time, the tank can be filled
in

(A) 10 hours
(B) 12 hours
(C) 14 hours
(D) 16 hours

A shopkeeper sold an article for
¥ 2,500. If the cost price of the article is
2,000, find the profit percent.

(A) 23%
(B) 25%
(C) 27%
(D) 29%

A train moving at speed of 80 km/hr
crosses a pole in 7 seconds. Find the
length of the train.

() 150 m
(B) 165 m
(C) 1555 m
(D) 170 m



70. Worker A completes a task in 8 days 73. A:B:Carein the ratioof3:2: 5. How
and worker B completes the same task much money will C get out of €1,260?
in 10 days. If both A and B work
together, in how many days they will

(A) ¥252
complete the task?
40 B) ¥125
A) —d
(A) G s
(C) 503
(B) 40 days
9 (D) €630
(C) ﬂéq days
74. What is the probability of getting an
even number when a dice is rolled?
(D) %9 days
A) 1/5
; (B) 1/2
71. What is the HCF of 1095 and 1168?
(A) 37 € 1/3
B) 73
(D) 1/4
(C) 43
(D) 83

75. If 30% of a certain number is 12:6, what
is the number?

72. What is the area of a triangle with base

5 metres and height 10 metres? A 24
(A) 20 square metres L
(B) 35 square metres

(C) 23
(C) 25 square metres
(D) 40 square metres (D) 32
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PART—C : SOCIAL WORKS

( Marks : 200 )

Each question carries 2 marks

76. is the study and review of past

experience.
(A)
(B)
€
(D)

Recording
Accountability
Monitoring

Evaluation

77. The source of data collected in the field

by researcher is called
(A)
(B)
(\&)
(D)

primary source
secondary source
tertiary source

None of the above

78. A passive leader is a/an
(A)
(B)
€

(D)

democratic leader
prophet
autocratic leader

laissez-faire leader

79. The method that brings about desirable

changes in the defective system for
ensuring social progress is

(A)
(B)
(€
(D)

social group work
community organization
social action

social case work

. 80. PTSD stands for
(A)
(B)
(€

(D)

Pre-Transmit Stress Disorder
Post-Transmit Stress Disorder
Pre-Traumatic Stress Disorder

Post-Traumatic Stress Disorder
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81.

83.

84.

85.

12

The Government of India adopted the
National Policy for Children in the year

(A) 1975
(B) 1974
(C) 1963
(D) 1985

. Who proposed ‘client-centred therapy’?

(A)
(B)
(€
(D)

Carl Rogers
Anna Freud
Paul Goodman
Adler

Lok Adalat refers to

(A) out of the court settlement

(B) decreasing the case load of courts
for speedy justice

(C) summary trial

(D) people deciding about their
problems

The 73rd Constitutional Amendment
relating to the Panchayati Raj came into
force in the year

(&) 1992
(B) 1993
(C) 1994
(D) 1995

refers to the protection of society
against crime.

(A) Social welfare
(B) Social defence
(C) Social security
(D) Social development



86.

87.

88.

89.

90.
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Practice of untouchability is abolished
by the Indian Constitution under the
Article

A) 17

(B)y 19

(C) 38

(D) 42

___ is discrimination in favour of the
able-bodied person.

(A)
(B)
(€)
(D)

Sexism
Ableism
Cabalism

Anabolism

Pradhan Mantri Kaushal Vikas Yojana
is a programme for

(A)
(B)
(C)
(D)

Rural Roads Construction

Skill Development

Adult Education

Girls Education

Who defined social stratifications as

a horizontal division of society with
higher and lower social units?

(A) Murray
(B) Cooley

(C) Williams
(D) Lundberg

The classification of primary group and
secondary group is given by

(A) Cooley
(B) Maclver
(C) Sumner
(D) Giddings

13

91. The difference between women’s moral
development in relation to men’s moral
development was proposed by

(A) Lawrence Kohlberg
(B) Carol Gilligan
(C) Erik Erikson
(D) Judith Butler
92. The ‘group’ in social group work is
(A) spontaneous
(B) formed in a planned manner
(C) formed through election
(D) disuhited
93. The most significant contribution of
Paulo Freire’s work is his
(A) insight into the pedagogy of
oppressed
(B) insight into the education of
oppressed
(C) insight into the culture of poverty
(D) insight into the political nature of
education
94, Who is the author of the book titled,
Social Group Work : A Helping Process?
(A) Wilson G. and Rylang G.
(B) Trecker H. B.
(C) Philips H. U.
(D) Konopka G.
95. The Medical Termination of Pregnancy
Act was passed in the year
(A) 1971
(B) 1961
(C) 1978
(D) 1981
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96.

97.

98.

- 99,

100.

Which country among the following
is not ratified the ‘Convention on
Elimination of All Forms of Discrimina-
tion Against Women (CEDAW)?

(A)
(B)
(€)
(D)

Germany
India
United States

Pakistan

Who had started the first school of

social work in India?
(A) G. D. Birla
(B) S. P. Godrej

(C) Sir Dorabjee Tata

(D) M. K. Tata

Incest taboos are imposed in order to
(A)
(B)
(€)
(D)

limit authoritarian relations

avoid confusion of generations
improve family relations

make life regulated

Which of the following is not a social
legislation?

(A) The Protection of Civil Rights Act
(B) The Beggars Act

(C) The Hindu Marriage Act

(D) The Forest Conservation Act

Gemeinschaft and Gesellschaft refers to
(A)
(B)
(€)
(D)

community and groups
community and caste
community and association

community and neighbourhood
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101.

102.

103.

104.

What is the goal of Juvenile Justice
System?

(A) Maintaining public safety

(B) Skill development

(C) Habilitation

(D) All of the above

While working with an individual
client on a one-to-one basis, the

relationship is

(A) a friendly association

(B) a contract

(C) purposeful to meet the psycho-

social needs of the client

(D) a sympathetic understanding of

the client

Which one of the Articles of Indian
Constitution made the provision for free
and compulsory education for all the
children up to the age of 14?

(A) Article 42

(B) Article 43

(C) Article 44

(D) Article 45
Which one of the following authors has
contributed exclusively in the area of

social group work?
(A) Hollis
(B) Murray Ross
(C) Trecker

(D) Perlman



105.

106.

107,

108.

Which legal body has the power to
enforce the Fundamental Rights in
India?

(A) The Parliament of India

(B) The Supreme Court of India

(C) The Human Rights Comﬁission
(D) The Ministry of Home Affairs

In social case work, interview is an
important

(A) tool

(B) method
(C) technique
(D) principle

Who among the following has given
functional view of society?

(A) Giddings

(B) Auguste Comte
(C) Parsons

(D) Leacock

Who among the following said, “Man is
a social animal”?

(A) Maclver
(B} Freud
(C) Aristotle

(D) Rousseau
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109.

110.

111.

112.

the
transmission.

is means of cultural

(A) Education

(B) Society

(C) Language

(D) Archaeology

Community organizer encourages and
provides direction and guidance to
proceed in carrying out the different
activities as a/an

(A) catalyst
(B) advocator

(C) animator

(D) resource mobilizer

Pick the correct order of the stages
in the development.

(A) Repression, denial,

isolation, regression

projection,

(B) Oral, anal, phallic, latency, genital

(C) Birth, child, adult, die

(D) Phallic, oral, latency, genital

The Protection of Women from Domestic
Violence Act came into force in the year
(A) 2006

(B) 2002

(C) 1990

(D) 2005
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-113.

114,

11s5.

116.

117.

Historically social policy relates to

(A) intervention and social redistri-
bution type

(B) socially regulatory kind
(C) socially right kind
(D) All of the above

The root of PRA techniques can be
traced to the method of the adult
education method of

(A) Antonio Gramsci

(B) Paulo Freire

(C) Pt. Jawaharlal Nehru
(D) Blumer

is the father of sociology.

(A) Auguste Comte

(B) Durkheim
(C) Spencer
(D) Cooley

Social policy issue deals with the issue
such as

(A) poverty

(B) disability

(C) poor housing
(D) All of the above

Which 'is not the category of
administration according to Henry
Fayol?

(A) Organization
(B) Command
(C) Coordination

(D) Supervision
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118. Who advocated POSDCORB view?
(A) Henry Fayol
(B) Luther Gullick
(C) L. Urwick
(D) Movean

119. When was the Five-Year Plan initiated?

(A) 1949
(B) 1951
(C) 1990
(D) 1950

120. In the abbreviation POSDCORB, CO

stands for

(A) communication
(B) coordination

(C) counselling

(D) corporation

121. The concept of felt needs’ is related to

(A) social group work
(B) social case work
(C) social action

(D) community organization

122. Which one of the following is a part

of Human Development Index?
(A) More gross national product
(B) More industrialization

(C) Life expectancy

(D) Fighting against social exclusion



123.

124.

125.

126.

127.

The principle of specific objective is
a principle of

(A) social case work

(B) social group work

(C) community organization

(D) social welfare administration

In which year was the Charity
Organization Society (COS) founded
in England?

(A) 1869
(B) 1879
(C) 1840
(D) 1852

Who is the author of Social Diagnosis?

(A) Murray Ross

(B) Mary Richmond
(C) Friedlander
(D) Helen Perlman

Which of the following is not a cause
of growth of cities?

(A) Trade and commerce

(B) Industrialism

(C) Development of transport
(D) Hygienic outlook of people

A scientific distinction between rural
and urban community can be made on
the basis of

(A) density of population

(B) area covered

(C) occupation followed by people
(D) None of the above
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128.

129.

The main factor of social changes is
(A) cultural pluralism

(B) outstanding leadership
(©)

(D) All of the above

technological development

Schedule V and VI of the Indian
Constitution are related to

(A) decide State boundaries between
the States

(B) decide the powers and
responsibilities of the Panchayati
Raj

(C) protection of rights of tribals

(D) protection of minorities in the

country

130. Which one of the following is not

131.

132.

the basis of community?

(A) Common locality

(B) Community sentiment

(C) Common political ideology
(D) Common way of life

is a socially defined position in
a group or society. -

(A) Role

(B) Interaction
(C) Status

(D) Deviance

The famous book, The Culture of Cities
is written by

(A)
(B) Lewis Mumford
(C) M. R. Davie
(D) None of them

Kingsley Davis
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133.

- 134.

135.

136.

137.

Which group is defined
juvenile delinquency?

(A)
(B)
\&)

(D)

age as

Above 18
Below 18
None of the above

All of the above

Who among the following is associated
with the concept of ‘social fact™?
(A) Emile Durkheim
(B) Karl Marx
(C) M. Mauss

(D) Max Weber

Locality  development = model = of
community development was
propounded by whom?

(A) Saul David Alinsky

(B) .Gordon Hamilton

(C) Jack Rothman

(D) M. G. Ross

Belief in the worth of the individual is
related to

(A) social work values

(B) social work techniques

(C) social work principles

(D) social work methods

What is the full form of CSR?

(A) Community Social Response
(B) Corporate Social Responsibility
(C) Concrete Social Responsibility
(D) Common Social Ritual
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138.

139.

140.

Arya Samaj was founded by which
great Indian reformer?

(A) Raja Ram Mohan Roy

(B) Jyotiba Phule

(C) Swami Dayanand Saraswati

(D) Swami Vivekananda

Mark out the incorrect statement.

In ancient period, cities were
(A)
(B)
(€
(D)

industrial centres
commercial centres
religious centres

political centres

Family counselling is

(A) macrosocial work practice
(B) mesosocial work practice

(C) microsocial work practice
(D) All of the above

141. What percentage of seats in educational

institutions are reserved for the
Scheduled Castes in India?

(A) 22 percent

(B) 17 percent

(C) 15 percent

(D) 19 percent

142. Which of the following is not a principle

of case work?
(A)
(B)
€
(D)

Specific objectives
Confidentiality
Individualization

Evaluation



.143.

144,

145,

146.

Which of the following is not a principle
of group work?

(A) Recognition of unique differences
of each individual

(B) Appropriate modification of group
process

(C) Enabling group members to involve
themselves in the process of
problem solving

(D) Principle of indifferent attitudes
towards members

Which one of the following is not

a defense mechanism?

(A) Sublimation

(B) Rationalization

(C) Projection

(D) Confrontation

Venn diagram is one of the commonly

used methods in

(A) institutional appraisal

(B) governmental appraisal

(C) non-governmental appraisal

(D) participatory rural appraisal

The research design that explains the

relationship between variables is

(A) experimental design

(B) case study design

(C) descriptive design

(D) None of the above
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147. The

sequential steps in research
processes are
(A) selection of ‘topic, reviews of
literature, collection of data,
analysis, report writing and
interpretation

(B) selection of
literature,

topic, reviews of

collection of data,
analysis, interpretation and report
writing

(C) selection of topic, collection of data,
reviews of literature, analysis,
interpretation and report writing

(D) selection of topic, collection of data,

reviews of literature, analysis,

report writing and interpretation
Social legislation attempts to
(A) justice as well as social security
(B) anticipate social needs
(C) provide for change in social order

(D) All of the above

The book, Community Welfare
Organization—Principles and Practice
has been written by

(A) K. D. Gangrade
(B) H. Y. Siddiqui

(C) Murray G. Ross
(D) Arthur Dunham

Which one of the following is not
present in single-parent families?

(A) Kin relationship
(B) Step relationship
(C) Parental relationship

(D) Biological relationship

[ P.T.O.



151.

152.

Human life is mostly influenced by

(A) friends

(B) family

(C) school

(D) colleégues

Which of the following is not a principle
of group work?

(A) Progressive programme experience
(B) Specific objectives

(C) Group experiment planning

(D) Continuous evaluation

153. The ultimate goal of Women’s Self Help

154.

Group is
(A) saving money

(B) taking loans

(C) getting revolving fund

(D) empowerment

Main source of India’s social policy is
(A)
(B)
\&)
(D)

Social Legislation
Five-Year Plans
Directive Principles of State Policy

None of the above

155. Which of the following statements is

correct?
(A)
(B)
(€)

Reliability ensures validity.
Validity ensures reliability.

Reliability does not depend on
objectivity.
are

(D) Reliability and  validity

independent of each other.
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156.

157.

158.

159.

The strength of association between

two variables is called
(A)
(B)
(€

(D)

correlation
inference
hypothesis

None of the above

Which of the following is not correct?
‘A belief’ becomes a ‘scientific truth’
when it

(A)
(B)

is established experimentally
is arrived logically
(C) is accepted by many people
(D) can be replicated

Yellow Revolution is

(A) a tribal custom of Northeastern

States
(B) a symbol of criticism of political
decisions adopted by opposition
parties
the

adoption

(€) and
of

to

growth, development
of new varieties
and technologies

increase oilseed production

oilseeds

(D) a revolution to bring changes in the
mind of masses for environmental

concerns

Acceptance is a principle of social work
which implies

(A) accepting the client in his/her
appearance

(B) extending warm welcome to the
client

(C) accepting the client as he/she is

(D) accepting the client’s version as
it is



160.

le61.

162.

163.

The National Commission for Women
was established in the year

(A) 1957
(B) 1986
(C) 2001
(D) 1992

Cognitive needs of human beings are
the needs

(A) to develop abilities
(B) for symmetry, order and beauty

(C) for security and freedom from
attack

(D) to know, to understand and to
explore

FCRA stands for
(A) Foreign Contribution (Rules) Act

(B) Foreign Contribution (Regulation)
Act

(C) Federal Contribution (Regulation)
Act

(D) None of the above

Which one of the following is not
a treatment group?

(A) Growth group

(B) Socialization group

(C) Educational group

(D) Study team
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165.

166.

167.

In participatory development, people’s
participation is

(A) an end, not just a means to
development

(B) only a means to development

(C) neither an end nor a means to
development

(D) only a means not an end to

development
The point where two axes intersect is
known as
(A) X-axis
(B) Y-axis
(C) origin
(D) table
The Universal Declaration of Human
Rights was adopted in
(A) 1944
(B) 1945
(C) 1947
(D) 1948

Which of the following are the salient
features of Mahatma Gandhi National
Rural Employment Guarantee Scheme?

1. Rights based framework
2. Labour intensive work
3. Decentralized planning

4. Women empowerment

Select the correct answer using the
code given below.

(A) 1, 2 and 3 are correct
(B) 1, 2 and 4 are correct
(C) 1, 3 and 4 are correct

(D) All are correct
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'168.

- (B)

169.

170.

171.

Which is the approach to community
organization?

(A) Community driven development
Social capital formation
sustainable

(C) Ecological

development

(D) All of the above

The author of the book, From Charity to
Social Work is

(A) Mary Richmond
(B) Friedlander

(C) Jane Addams

(D) Elizabeth N. Agnew

What does a population pyramid
signify?

(A) Maternal mortality rate

(B) Fertility rate

(C) Death rate

(D) Age-sex distribution at a given time
According to whom groups must

accomplish the four functional tasks,
i.e., integration, adaptation, pattern
maintenance and goal attainment to
remain in equilibrium?

(A) Talcott Parsons

(B) Ghurye

(C) Cooley

(D) Durkheim
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172.

173.

174.

175.

In the principle of ‘Right to self-
determination’, a social worker

(A) recognizes the right and need of
clients to freedom in making their

own choices and decisions

(B) recognizes the right to privacy of
the client

(C) examines the situations of clients
without bias

(D) recognizes the client’s genuine

concern, points of view and helps
in taking decision

An achieved status is based on

(A) birth

(B) caste

(C) abilities

(D) financial position of family

What is the relationship between

social work and social justice?

(A) Social work through the value
of social justice enhances access
and opportunity to everyone

(B) Social justice has no commonality
with social work

(C) Social justice is promoted by
courts

(D) All of the above

Child labour in any form is prohibited
under which Article of the Indian
Constitution?

(A) Article 22
(B) Article 23
(C) Article 24
(D) Article 25



